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Abstract : After 1990s, it has become absolutely imperative that enterprises and administrations bring their
visions into focus, define their own strategies, have shared awareness about them in their organization and make
certain to realize the strategies of one mind. Because the balanced score card is well known as the best frame work
for this purpose, numbers of organizations which have introduced BSC continue to increase.

This article explores approaches that may develop a strategy from a problem someone faces before
introduction of BSC, design a business process for realization of the strategies, decide goal values of KPI which
maintain consistency with each others on BSC table and determine the reason of gap of KPI values between a goal
value and an actual performance value.

The author proposed “model based management method” using system dynamics modeling &
simulation and “Thinking Process” of theory of constrain. After the method was put to the proof on the case of the
supply chain problem of the beer game, it was shown that the combination of “Thinking Process” which derived
gualitative assessment and model based management method which derived quantitative evaluation, is effective
to develop a strategy based on a problem someone faces before introduction of BSC.
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